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Part One
Reading in Depth






Passage One

Fish have ears. Really. They’re quite small and have no opening to the outside world
carrying sound through the body. For the past seven years, Simon Thorold, a university
professor, has been examining fish ears, small round ear bones called otoliths(H-£).

As fish grow, so do their otoliths. Each day, their otoliths gain a ring of calcium
carbonate (i fR%5). By looking through a microscope and counting these rings, Thorold
can determine the exact age of a young fish. As a fish gets older, its otoliths no longer get
daily rings. Instead, they get yearly rings. which can also be counted, giving information
about the fish’s age, just like the growth rings of a tree.

Ring counting is nothing new to fish scientists. But Thorold has turned to a new
direction. They’re examining the chemical elements of each otolith ring.

The daily ring gives us the time, but chemistry tells us about the environment in
which the fish swam on any given day. These elements tell us about the chemistry of the
water that the fish was in. It also says something about water temperature, which
determines how much of these elements will gather within each otolith ring.

Thorold can tell, for example, if a fish spent time in the open ocean before entering
the less salty water of coastal areas (¥ #§ #i X ). He can basically tell where fish are
spending their time at any given stage of history.

In the case of the Atlantic croaker (£ & ffi), a popular saltwater food fish, Thorold
and his assistant have successfully followed the traveling of young fish from mid-ocean to
the coast, a journey of many hundreds of miles.

" This is important to managers in the fish industry, who know nearly nothing about the
whereabouts of the young fish for most food fish in the ocean. Eager to learn about his
technology, fish scientists are now lending Thorold their ears.

1. What can we learn about fish ears from the text?

A. They are small soft rings.

B. They are not seen from the outside.

C. They are openings only on food fish.

D. They are not used to receive sound.
2. Why does the writer compare the fish to trees?

A. Trees gain a growth ring each day.

B. Trees also have otoliths.

C. Their growth rings are very small.

D. They both have growth rings.
3. Why is it important to study the chemistry of otolith rings?
The elements of the otoliths can tell the history of the sea.
Chemical contents of otoliths can tell how fast fish can swim.
We can know more about fish and their living environment.

oSowp

Scientists can know exactly how old a fish is.
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4. How would you understand "[ish scientists are now lending their ears”?
A. They are very interested in Thorold’s research findings.
B. They want to know where they can [ind fish.
C. They lend their fish for chemical studies.
D. They wonder il Thorold can ind growth rings from their ears.

Which of the following is NOT true according to the passage?

Ul

A. Thorold’s research findings are important to managers in fish industry.
B. We can know [ish’s age by observing its ears.
C. Thorold’s research is nothing new at all.

D. Otoliths can not be seen by naked eyes.

Passage Two

In 1791 the French nation. in the midst of a revolution. wished to break with the
past, especially with those aspects which they considered illogical and useless. One of
those was the traditional system of weights and measures in use. Not only was the system
overtly (B i #) complicated. but it also varied widely from place to place.

In constructing the new system. the French began by setting up a unit of distance
equal to oneforty-millionth part of the earth’s circumference (5] i [&). Unfortunately,
later measurements showed that the unit designed was not exactly that fraction, but they
continued to use it ( Today the unit is defined simply as the distance between two marks on
a platinum iridium (514K) bar which is kept in a suburb of Paris). The unit is the meter,
and the system ol measurements based on this unit is the metric system. the system today
used by scientists all over the world.

The metric system is built in units of ten. Greek prefixes showing multiples and Latin
preflixes showing [ractions. The Greeks had no word for number larger than ten thousand
and the Romans had none [or a number larger than one thousand. but the system was
extended by using less specilic words; for instance mega meter (one million meters) is
derived from a Greek word that means simply “large”.

The symbol formeter is “m”. Decimal multiples( | % %) and submultiples (%) of
the meter. such as kilometre (1000 meters) and centimetre (1/100 meter). are indicated
by adding prefixes(f{ij%%)to meter . In the United States. it is spelled metre .

1. The French constructed a new system of weights and measures because
A. their system did not conform to other nations’ system
B. they were in the midst of a revolution
C. simplifying the old system proved diliicult
D. they wished to give up things illogical and useless
2. The French system of weights and measures used before 1791 was
A. extremely complicated and it differed widely from place to place
B. not the same in its complexity
C. varied widely from place to place in its use
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D. highly complicated in calculation
3. When the basic unit was proved inexact, the French
A. reconstructed the entire system
B. not the same in its complexity
C. redefined the meter
D. return to the traditional system of measurement
4. Multiples in the metric system are shown by
A. Greek prefixes
B. Latin prefixes
C. specific Latin numbers
D. general words adopted from the Greeks
5. It is implied but not stated that :
A. the metric system was immediately adopted as a standard system throughout the
world
B. all units in the metric system related to the basic meter
C. the limitation of Greek and Latin proved a great obstacle to extending the system
D. the basic unit of the metric system was to equal a measurable part of the earth’s
circumference

Passage Three

[t was a quarter past nine as Marie hurried into the office building where she was going
to work. Her bus had inched along (£& 18 #ti [a] 7 # 3i) through heavy morning traffic,
making her a few minutes late for her very first job. She decided to start out half an hour
earlier the next day.

Once inside the lobby, she had to stand at the elevators and wait several minutes
before she could get on one going to the sixth floor. When she finally reached the office
marked “King Enterprises”, she knocked at the door nervously and waited. There was no
answer, She tapped on the door again, but still there was no reply. From inside the next
office, she could hear the sound of voices, so she opened the door and went in.

Although she was sure it was the same office she had been in two weeks before when
she had had the interview with Mr. King, it looked quite different now. In fact, it hardly
looked like an office at all. The employees were just standing around chatting and
smoking. At the far end of the room, somebody must have just told a good joke, she
thought, because there was a loud burst of laughter as she came in. For a moment she had
thought they were laughing at her.

Then one of the men looked at his watch, clapped his hands and said something to the
others. Quickly they all went to their desks and, in a matter of seconds, everyone was
hard at work. No one paid any attention to Marie. Finally she went up to the man who was
sitting at the desk nearest to the door and explained that this was her first day in the office.
Hardly looking up from his work, he told her to have a seat and wait for Mr. King, who
would arrive at any moment. Then Marie realized that the day’s work in the office began



(R A)

just before Mr. King arrived.

Later she found out that he lived in Connecticut (5 J5%k 7 M )and came into Manhattan
(& 1i)on the same train every morning, arriving in the office at 9:35, so his staff knew
exactly when to start working.

1. Marie felt nervous when she knocked at the door because
A. it was her first day in a new job
B. she was a little bit late for work
C. she was afraid that she had gone to the wrong place
D. there was no answer from inside the office
2. Marie could hardly recognize the office she went into because
A. she had been there only once
B. Mr. King was not in the office
C. nobody was doing any work
D. the office had a new appearance
3. The people in the office suddenly started working because
A. they saw a stranger in the office
B. they had finished their morning break
C. no one wanted to talk to Marie
D. the boss was about to arrive
4. We can infer from the text that the employees of the enterprise
A. would start their work by listening to a joke
B. were cold to newcomers
C. were always punctual for work
D. lacked devotion to the company
5. The best title for this text would be
A. Punctual Like A Clock
B. A Cold Welcome
C. An Unpunctual Manager
D. Better Late Than Never

Passage Four

Ties, or neckties, have been a symbol of politeness and elegance in Britain for
centuries. But the casual Prime Minister Tony Blair has problems with them. Reports
suggest that even the civil servants may stop wearing ties. So are the famously formal
British really going to abandon the neckties?

Maybe. Last week, the UK’s Cabinet Secretary Andrew Turnbull openly welcomed a
tieless era. He hinted that civil servants would soon be free from the costliest 12 inches of
fabric that most men ever buy in their lives.

In fact, Blair showed this attitude when he had his first guests to a cocktail party.
Many of them were celebrities (41 4 A + ) without ties, which would have been
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unimaginable even in the recent past.

For some more conservative British, the tie is a must for proper appearance. Earlier,
LLabor leader Jim Callaghan said he would have died rather than have his children seen in
public without a tie. For people like Callaghan, the tie was a sign of being complete, of
showing respect. Men were supposed to wear a tie when going to church, to work in the
office. to a party —almost every social occasion.

But today, people have begun to accept a casual style even for formal occasions.

The origin of the tie is tricky. It started as something called simply a “band”. The
term could mean anything around a man’s neck. It appeared in finer ways in the 1630s.
Frenchmen showed a love of this particular fashion statement. Their neckwear (% iffi)
impressed Charles II, the king of England who was exiled (i) to France at that time.
When he returned to England in 1660, he brought this new fashion item along with him.

It wasn’t, however, until the late 18th century that fancy young men introduced a
more colorful, flowing piece of cloth that eventually became known as the tie. Then,
clubs, military institutions and schools began to use colored and patterned ties to indicate
the wearer’s membership in the late 19th century. After that, the tie became a necessary
item of clothing for British gentlemen.

But now, even gentlemen are getting tired of ties. Anyway. the day feels a bit easier
when you wake up without having to decide which tie suits you and your mood.

1. The tie symbolizes all of the following except .
A. respect B. elegance C. politeness D. democracy
2. Why does Blair sometimes show up in a formal event without a tie?
A. Because he wants to make a show.
B. Because he wants to attract attention.
C. Because ties are costly.
D. Because he wants to live in a casual way.
3. Which of the following is NOT a social occasion?
A. Going to church.
B. Going to work in the office.
C. Staying at home.
D. Going to a party.
4. Who brought the Frenchmen’s neckwear to Britain?
A. Tony Blair. B. Charles II. C. Jim Callaghan. D. Andrew Turnbull.
When did British gentlemen begin to wear ties regularly?
A. After the late 19th century.
B. In the 1630s.
C. In 1660.
D. In the late 18th century.

9]
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Passage Five

Seals(# %) may not deserve their reputation as purely polygynists(— K ZFEH), a
new study suggests. Far [rom showing no interest in long-term relationships, many seals
will in fact return to a tried and true partner.

In addition, researchers had thought that female seals prefer dominant ( 3 5§ )
males, which fight with other males for mating rights. On the contrary. subordinate ( M\ J&
fJ) males. in particular, “establish durable ties (with females). recognizing each other
between seasons and coordinating their behaviors”, report Bill Amos of the University of
Cambridge in England and his colleagues.

Whether the males pick the females or vice versa remains unclear.

“There data challenge our rather smug(H UL A2 ) beliefs about mating systems”,
says Phil Clapham of the Smithsonian Institution’s National Museum of Natural History in
Washington, D. C “This is the first I’ve seen of something like this in a seal”, adds Rob
Fleischer of the Smithsonian’s National Zoological Park

Amos and his colleagues marked and took blood from 85 female and 88 male
Halichoerus grypus seals ( JK # %) in breeding areas on North Rona, an island off
Scotland. Between 1986 and 1989, almost 70 percent of the females, which generally have
one offspring at a time, returned to the island. Using molecular ( 4+ ¥ fJ ) genetic
techniques, the scientists examined the parentage (3 f X %) of these females’ pups (%)
), including about 50 pairs of siblings or half-siblings( ¥, 58 1 ).

The researchers found that any two seal pups born during the study are about 13 times
as likely to have the same father if they share the same mother. Those odds(JL# ), Amos
says, suggest “far greater partner fidelity (£ #§) than you could get by chance”.

Genetic analyses of the pups and adults ruled out ( £ 45 1) the possibility that a few
very successful males. spending a lot of time in the breeding colony, produced most of the
full siblings([a] }fd 35 %% X % ). Tests also revealed that dominant males which returned to
the island “actually father(f-«--- ) % 3 ) disproportionately few full sibs”, the scientists
report. Therefore, credit for most full siblings goes, by default(#kih), to the subordinate
males, the authors conclude.

Seeking out a familiar partner could help reduce the death rate of pups, they
speculate. Fights over females disturb the clan(Gii#%), sometimes separating mothers from
pups, which die if left on their own. Clapham disagrees, saying that motives(Zfj#l) for the
seals” fidelity remain unclear.

1. What does this passage mainly discuss?
Halichoerus grypus seals.

Mating of seals.

Seals in the oceans.

CoEE

Breeding area of seals.
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2. According to the passage, the researchers previously thought that

A. subordinatemales established durable ties with females
B. dominant male seals won the preference of females
C. it is males that pick females during mating
D. females seals dominated male seals completely
3. According to the passage. where is the island Worth Roma located?
A. Near Scotland.
B. In Cambridge.
C. Off Washington.
D. Close to Antarctic.
. According to the passage. the production of most full siblings is credited to
A. dominant males
B. subordinate males
C. pups and adults
D. any seal
5. The seals develop familiar partnership to avoid
A. fighting over females
B. less full siblings
C. dominant males
D. being controlled by females

Passage Six

Everybody gets sick. Disease and injury make us suffer throughout our lives until
finally, some attack on the body brings our existence to an end. Fortunately, most of us in
modern industrialized societies can take relatively good health for granted most of the time.
In fact, we tend to fully realize the importance of good health only when we or those close
to us become seriously ill. At such times we keenly appreciate the ancient truth that health
is our most precious asset (¥ /%) . one for which we might readily give up such rewards as
power, wealth, or fame.

Because ill health is universal problem, affecting both individual and society, the
human response to sickness is always socially organized. No society leaves the
responsibility for maintaining health and treating ill health entirely to the individual. Each
society develops its own concepts of health and sickness and authorizes certain people to
decide who is sick and how the sick should be treated. Around this focus there arises, over
time, a number of standards. values, groups. statuses, and roles, in other words, an
institution(f# ). To the sociologist, then, medicine is the institution concerned with the
maintenance({£3F)of health and treatment of disease.

In the simplest pre-industrial societies, medicine is usually an aspect of religion. The
social arrangements for dealing with sickness are very elementary, often involving only two
roles: the sick and the healer. The latter is typically also the priest. who relies primarily
on religious ceremonies, both to identify and to treat disease. For example., bones may be



